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— g4 T v AARK 1Z| 0.30 1.0 — 0.11
2F| 0.04 0.9 — 0.01
3F| 0.03 0.9 — 0.01
TERER ol G BRI
BEE %1 X BEEEENAN
S S XZihRES sHe I {E BB iz
;ﬂéiﬁﬁﬁfﬁﬁﬁﬁﬂ‘% 7T=$E$ ﬁiﬁ*&%$ §EE$ §EE$
% % % %
— g4 T v AARK 1Z| 0.30 1.0 — 0.11
2F| 0.04 0.9 — 0.01
3F| 0.03 0.9 — 0.01




EFEMOAE
MIFEL
BERRE g CRLEE
BER ERLS BER
NN I XIBEHE | smme | mepay | BRBRY RiaH
= = sxmrEns || REE BEREE | KEE By
% % % %
- A Ty RAARX 18| 1.18 1.1 - 0.70
2% 0.34 1.0 - 0.06
3% 0.03 0.9 - 0.01




A2 (FERFROREZH5 L)

HER R %
B R
H£FBHDER BRXa 5IZARK Hhigg X5
Fhivl & ofF A T v XA FI1RXE |HERORE
1058 A T v AARX FI1RXE |HERORE
= 18 EERAR FI1RXE |HERORE
FHEZRAR FI1RXE |BERORE
6% A T v XA FI1RXE |HERORE
78 A Ty AARX FI1RXE |HERORE
8% A T v AARX FI1RXE |BERORE
NG — A T v XA FI1RXE |HERORE
* 18 FHEZRAR FI1RXE |HERORE
2% FHEZRAR FI1RXE |BEROXE
3% FHEZRAR FI1RXE |HERORE
4% FrzAR FIRE |HERORE
74 A T v AARX FIRXE |HERORE
KEPRAHFLFAK FIRXE |HERORE
ZI1E 3% A Ty XA FIRXE |HERORE
448 A T v XA FIRXE |HERORE
AA—bra—2 3% A T v XA FIRXE |HERORE
fERE — A Ty AARX FIRXE |HERORE
ANESERS — A T v AARX F1RE |HERORE
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